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Questions

Choose the word which is opposite in meaning to the given word :

PERTINENT
(A) Irrational
(B) Irregular
(C) Inconsistent
(D) Irrelevant

Answer Key: (D)

Choose the word which is opposite in meaning to the given word :

FRUGAL

(A) Excessive
(B) Extravagant
(C)Rich

(D) Generous

Answer Key: (B)

Choose the word which is opposite in meaning to the given word :

CUMBERSOME
(A) awkward

(B) manageable
(C) difficult

(D) handy

Answer Key: (B)

Pick out the word that is most nearly the same in meaning as the word in capitals (Synonymous) :

FOSTERING
(A) safeguarding
(B) nurturing
(C) neglecting
(D) ignoring

Answer Key: (B)

Pick out the word that is most nearly the same in meaning as the word in capitals (Synonymous) :

PROPEL

(A) burst
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(B) drive

(C) acclimatize

(D) modify

Answer Key: (B)

Pick out the word that is most nearly the same in meaning as the word in capitals (Synonymous) :

TURMOIL

(A) danger

(B) fear

(C) chaos

(D) shock

Answer Key: (C)

Four parts of a sentence (P/Q/R/S) are given. Arrange them in the right order to produce a correct sentence :
even when/are well informed/people engaged in a conversation/their conversation may be dull P/ Q/ R/ S

(A) QSPR

(B)PRQS

(C) SRQP

(D) SQRP

Answer Key: (B)

Four parts of a sentence (P/Q/R/S) are given. Arrange them in the right order to produce a correct sentence :
is to convince your reader/the aim of an argumentative essay/you have taken on a subject/ is right that the position P/ Q/ R/ S
(A) SQPR

(B)RQSP

(C)PQSR

(D) QPSR

Answer Key: (D)

Four parts of a sentence (P/Q/R/S) are given. Arrange them in the right order to produce a correct sentence :
the conspiracy/got wind of/the Government/against the King's life P/ Q/ R/ S

(A)PQRS

(B)RQPS

(C)PSQR

(D) SPQR

Answer Key: (B)
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Select one word which is closest in meaning to the statement in the question :
One who is all powerful

(A) Anarchist

(B) Omnipotent

(C) Omnisient

(D) Strong

Answer Key: (B)

Select one word which is closest in meaning to the statement in the question :
To free somebody from all blame

(A) Obsolete

(B) Epicure

(C) Honour

(D) Exonerate

Answer Key: (D)

Select one word which is closest in meaning to the statement in the question :
One who is indifferent to all pleasure and pain

(A) Stern

(B) Stoic

(C) Egoistic

(D) Eccentric

Answer Key: (B)

Find out the correct spelt word from the choices given :
(A) Obedeint
(B) Obedient
(C) Obadeint
(D) Obedeant

Answer Key: (B)

Find out the correct spelt word from the choices given :
(A) Foreign

(B) Foreine

(C) Fariegn

(D) Forein

Answer Key: (A)
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Find out the correct spelt word from the choices given :
(A) Ommineous
(B) Ominous
365
(C) Omineous
(D) Omenous
Answer Key: (B)
The first two words are related in a particular manner. Select the word from given choices, which is related to third one in the same
manner :
GRAIN:SALT::blades:
(A) glass
366 (B) cut
(C) grass
(D) steel
Answer Key: (C)
The first two words are related in a particular manner. Select the word from given choices, which is related to third one in the same
manner :
PAIN:SEDATIVE ::grief
(A) consolation
367 (B) ache
(C) trance
(D) stimulant
Answer Key: (A)
The first two words are related in a particular manner. Select the word from given choices, which is related to third one in the same
manner :
LIGHT:BLIND :: speech
(A) tongue
368 (B) dumb
(C) sound
(D) chat

Answer Key: (B)

Choose the odd one from given four choices :
(A) Mars

(B) Mercury
369
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(C) Saturn
(D) Sun

Answer Key: (D)

Choose the odd one from given four choices :
(A) Elephant

(B) Man

(C) Hawk

(D) Whale

Answer Key: (C)

Choose the odd one from given four choices :
(A) Honey

(B) Pearl

(C) Coral

(D) Resin

Answer Key: (D)

Mark the most appropriate substitute to fill the blanks in the given description : When we get ready for dinner, I have to take my

books the table.
(B) From

(C) Out

(D) Of

Answer Key: (A)

Mark the most appropriate substitute to fill the blanks in the given description : You have to leave your shoes

___the door when you enter the house.
(A)In
(B) Over
(©) To
(D) By

Answer Key: (D)

Mark the most appropriate substitute to fill the blanks in the given description : David cleaned his room by stuffing everything

his bed.

(A)In

http://localhost/bsnl_eadmin_live/testset.php?subcode=301&seccode=1

5/13



9/22/2016 localhost/bsnl_eadmin_live/testset.php?subcode=301&seccode=1

374 (B) On
(C) Under
(D) Along
Answer Key: (C)
Change the direct narration to indirect narration : "If you don't keep quiet I shall shoot you", he said to her in a calm voice.
(A) He said calmly that I shall shoot you if you don't be quiet.
(B) He warned her calmly that he would shoot her if she didn't keep quiet.
i (C) Calmly he warned her that be quiet or else he will have to shoot her.
(D) He warned her to shoot if she didn't keep quiet calmly.
Answer Key: (B)
Change the direct narration to indirect narration : He said to his father, "Please increase my pocket-money."
(A) He pleaded his father to please increase my pocket money.
(B) He requested his father to increase his pocket-money.
376
(C) He asked his father to increase his pocket-money.
(D) He told his father, "Please increase the pocket-money"
Answer Key: (B)
Change the direct narration to indirect narration : "Please don't go away", she said.
(A) She told me to go away.
(B) She requested me not to go away.
377
(C) She begged that [ not go away.
(D) She said to please her and not go away.
Answer Key: (B)
Change the following sentences into passive voice : After driving professor Kumar to the museum she dropped him at his hotel.
(A) After she had driven Professor Kumar to the museum she had dropped him at his hotel.
(B) After she was driven Professor Kumar to the museum she had dropped him at his hotel.
378

(C) After being driven to the museum, Professor Kumar was dropped at his hotel.
(D) Professor Kumar was being driven dropped at his hotel.

Answer Key: (C)

Change the following sentences into passive voice : Who is creating this mess?
(A) By whom has this mess been created?

(B) By whom this mess is being created?
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379
(C) By whom is this mess being created?

(D) Who has been created this mess?

Answer Key: (C)

Change the following sentences into passive voice : They greet me cheerfully every moring.
(A) I am greeted cheerfully by them every morning.
(B) I am being greeted cheerfully by them every morning.
380
(C) Cheerful greeting is done by them every morning to me.

(D) Every moming I was greeted cheerfully.

Answer Key: (A)

ICC World Cup Twenty20 - 2016 was scheduled to be held in -
TSR faeaeT gdér-20 2016 5T ¢RI & 3mAfad fovar sia 2

(A) West Indies

AE ST

(B) England

381 ELCES

(C) India
ARG

(D) South Africa
gfaroT 3rshiehT

Answer Key: (C)

Plaster of Paris is made from
AT 3T IRE T & s ST g

(A) gypsum
ISl

(B) zinc
382 STEAT

(C) slaked lime

o3 g

(D) limestone
TR

Answer Key: (A)

Which among the following planets is smaller in size than the Earth?

goTH O fohd 76 T 3TeRR g2t A Bler g?
http://localhost/bsnl_eadmin_live/testset.php?subcode=301&seccode=1

713



9/22/2016

383

384

385

localhost/bsnl_eadmin_live/testset.php?subcode=301&seccode=1

(A) Neptune
Azt (e

(B) Venus
ATH ()

(C) Saturn
JeaT( 2

(D) Uranus
o

a

Answer Key: (B)

Who is the founder of Art of Living concept
HTC 3T TS FehedelT & TEATIS Hief & 2

(A) Sri Sri Ravi Shankar
A A Faeie

(B) Baba Ramdev
CICIRIECE]

(C) Morari Bapu
Fr Ay

(D) Aasaram Bapu
CIGINE NN

Answer Key: (A)

Deficiency of which vitamin causes night blidness

Tt fore fderfAsr e a et g 2

(A) Vit.B
erfaa

(B) Vit.C
oA &

(C) Vit.A
Refaa v

(D) Vit.E
IERIGEE]

Answer Key: (C)

Which of the following is the longest river in the world ?

STH A PleT W AT A TEA T AT § 2

(A) Indus
e

9
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(B) Amazon
AT

(C) Nile
GIGH

(D) Missouri-Mississippi
ey fAdfad

Answer Key: (C)

The world's highest "Rail Bridge" is being constructed in the state of J & K on which of the following rivers

Taea T Gl 35T TeT oot ST R Tl & fohE S8 R TRT ST @ & ?

(A) Jhelum

oA

(B) Chenab
[Eoic

(C) Indus
e

P

(D) Ravi
T

Answer Key: (B)

She was the first woman Prime Minister of the world

I f3eg 1 gad ugel Al geneT F3r 2|

(A) Indira Gandhi

gieexr anedy

(B) Sirimavo Bhandaranaike

HRATHT AT TSH

(C) Golda Meir
TMeST AW

(D) Margaret Thatcher
AT A=

Answer Key: (B)

"Deshbandhu" is the title of—
SAA A Tra " S & 1 @ ST ST &

(A) B.R. Ambedkar
CLE/ISEICEE DS

(B)B. C. Pal
CIKIRIGH
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(C) Rabindranath Tagore
TellertTy BT

(D) C.R. Das
A AR e

Answer Key: (D)

If a person wants to enrol for the Pradhan Mantri Suraksha Bima Yojana his/her age must be between __ ?

I IS A GR&T STAT FNSTeAT 3 [T AHTReT AT TTEl & AT ST SH-—-—--- F g afee

(A) 18-40 years
18-40 ¥

(B) 20-55 years
390 20-55 39

(C) 18-70 years
18-70 ¥

(D) 18-65 years
18-65 aY

Answer Key: (C)

Who among the following on 13 January 2015 took charge as the first vice-chairman of the newly-created NITI Aayog?

&1 O et 13 ST 2015 Y =19 fAfHT S 30T & dgel aT RRAT & T F HIRIAR AT

(A) V. K. Saraswat
dr s wEad

(B) Bibek Debroy
391 [EEEE-EIT]

(C) Sindhushree Khullar
e goor

(D) Arvind Panagariya
3RfdE weteriar

Answer Key: (D)

Nationwide mobile number portability (MNP) became operational from?
gAY FlSTSe AR NETAE (THTTohe F IR S 2

(A) 1-July-15

1 SelrS- 15

(B) 1-June-15
392 15T -15

(C) 3-July-15

3 elS- 15
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(D) 2-July-15

2 ellS- 15

Answer Key: (C)

BSNL recently launched a pre-paid card linked mobile wallet service called?

ATHTAT = BTel 1 H Ueh W-US S A ST ASTS ol dTele Hal AR 1 & orgqenT A g -
(A) Pocket Money

Yiche HeAT

(B) E-money

§FeAr

(C) Mobile Pay

AT

(D) Speed Pay
ESIER]

Answer Key: (D)

BSNL free roaming launched w.e.f.15.6.2015 is applicable on
ATHTAT SR 15.6.2015 & h 1S HFA ATAT fohy o A9 27

(A) Outgoing calls

T3NS HleH

(B) Incoming calls

SARTHIT Flod

(C) Broadband
v

(D) Both incoming and outgoing calls

Answer Key: (B)

R K.Laxman, who died in Jan, 2015 was famous for

3R & FEHT TSIeTehl STeTadl 2015 T Heg 81 7S fohrh forw uidig

(A) Painting
s

(B) Cartoons

Earec)

kY

(C) Film Direction
rea fAde

(D) Screenplay writing
9E HAT 1T
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Answer Key: (B)

Who amongst the following is the Head of the RBI at present ?
T3] W hleT TTATT H RTINS T 3ETeT§ 2

(A) K.V.Kamath
& dT Y

(B) Raghuram Rajan
396 T%TIW Tole

(C) O.PBhat
M drae

(D) D.Subbarao
BRI

Answer Key: (B)

Which scheme was recently launched by Union Ministry of Urban Development for 12 cities to preserve the rich heritage of the
country

AT Qe T HATRT SERT 2T T g TARTAT hl TR et oh ToIT gTel &1 # 12 AeR & AT let A FNofer, YE A TS E 2

(A)JYOTI
safa

(B) HRIDAY
g

397

(C) SWABHIMAN
e

(D) HERITAGE

gRes

Answer Key: (B)

Which Bank launched India's first MUDRA card under Pradhan Mantri Mudra Yojana
Ty dh 1 TEITeTHAT HeT VoToTT & TG Rl oh Tgol HaT 1S T YN Foham?

(A) Corporation Bank
FARAA s

(B) State Bank of India
398 AR R da

(C) Central Bank

deaT

(D) Reserve Bank of India
AR Rad 8

Answer Key: (A)
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The man responsible for conceiving the idea of short messaging service (SMS) technology, died recently. He was
T HerRT Ul (THUHATH) clohoiieh o faeR T TR & fv fSeer caferd &1 grel 1 & fyere g1 a1 ag @l um

(A) Charles Babbage
AR Soelo

(B) Tim Berners-Lee
399 AT

(C) Linus Torvalds
e SRaTesd

(D) Matti Makkonen
HET Achehletel

Answer Key: (D)

Which space body has won the 2015 space pioneer award for science and engineering?

Ty 3icReT forenra o fararet 3R SlfaraRar oh forw 2015 T 3TRET 3ol EhR ST E?

(A) NASA
Arar

(B)ISRO

400 sar

(C)ESA

sugu

(D)RSA
IRTET

Answer Key: (B)
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